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11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. 14,565

2. 14,295

3. 11,338

4. 11,791

5. 15,792

6. 12,484

7. 9,295

8. 9,922

9. 10,006

10. 9,598

11. 12,851

12. 3,682

13. 9,670

14. 8,441

15. 12,315

16. 14,391

17. 14,215

18. 15,168

19. 10,692

20. 13,925

Solve each problem.

1) 8,834 + 5,731 = 14,565

2) 9,800 + 4,495 = 14,295

3) 7,469 + 3,869 = 11,338

4) 8,750 + 3,041 = 11,791

5) 9,634 + 6,158 = 15,792

6) 7,733 + 4,751 = 12,484

7) 6,748 + 2,547 = 9,295

8) 5,966 + 3,956 = 9,922

9) 5,270 + 4,736 = 10,006

10) 7,182 + 2,416 = 9,598

11) 9,872 + 2,979 = 12,851

12) 2,668 + 1,014 = 3,682

13) 6,792 + 2,878 = 9,670

14) 5,076 + 3,365 = 8,441

15) 9,728 + 2,587 = 12,315

16) 7,511 + 6,880 = 14,391

17) 9,079 + 5,136 = 14,215

18) 9,255 + 5,913 = 15,168

19) 7,123 + 3,569 = 10,692

20) 9,577 + 4,348 = 13,925
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Modified

Solve each problem.

9,598 15,792 9,295 12,851

12,484 3,682 11,338 10,006

14,295 11,791 14,565 9,922

1) 8,834 + 5,731 = 14,565

2) 9,800 + 4,495 = 14,295

3) 7,469 + 3,869 = 11,338

4) 8,750 + 3,041 = 11,791

5) 9,634 + 6,158 = 15,792

6) 7,733 + 4,751 = 12,484

7) 6,748 + 2,547 = 9,295

8) 5,966 + 3,956 = 9,922

9) 5,270 + 4,736 = 10,006

10) 7,182 + 2,416 = 9,598

11) 9,872 + 2,979 = 12,851

12) 2,668 + 1,014 = 3,682

Answers
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